Evaluate

Evaluate

1)
$$\int_{2}^{2} x \, dx = \frac{x^{2}}{2} \Big|_{2}^{2} = \frac{(2)^{2}}{2} - \frac{(2)^{2}}{2} = 0$$

(2) $\int_{a}^{a} f(x) \, dx = 0$

12) $\int_{-1}^{3} x \, dx$

2b) $\int_{3}^{-1} x \, dx$

$$= \frac{x^{2}}{2} \Big|_{-1}^{3} = \frac{3^{2}}{2} - \frac{(-1)^{2}}{2} = \frac{x^{2}}{2} \Big|_{3}^{2} = \frac{(-1)^{2}}{2} - \frac{5^{2}}{2}$$

$$= \frac{9}{2} - \frac{1}{2} = -\frac{8}{2} = -4$$

$$= 4$$

$$\int_{a}^{b} f(x) \, dx = -\int_{a}^{a} f(x) \, dx$$

3a)
$$\int_{-2}^{4} x \, dx$$
 3b) $\int_{-2}^{4} x \, dx$

$$= \frac{x^{2}}{2} \int_{-2}^{2} \left(\frac{1}{2}\right)^{2} - \frac{x^{2}}{2} \int_{-2}^{4} \left(\frac{4^{2}}{2}\right)^{2} - \frac{1^{2}}{2}$$

$$= \frac{3^{2}}{2} \int_{-2}^{4} x \, dx = \frac{x^{2}}{2} \int_{-2}^{4} = \frac{4^{2}}{2} - \frac{(-2)^{2}}{2} = \frac{12}{2}$$

$$= \frac{3^{2}}{2} \int_{-2}^{4} x \, dx = \frac{x^{2}}{2} \int_{-2}^{4} x \, dx = \frac{4^{2}}{2} - \frac{(-2)^{2}}{2} = \frac{12}{2}$$

$$= \frac{3^{2}}{2} \int_{-2}^{4} x \, dx = \frac{x^{2}}{2} \int_{-2}^{4} x \, dx = \frac{4^{2}}{2} \int_{-2}^{2} x \, dx = \frac{12^{2}}{2} \int_{-2}^{4} x \, dx = \frac{1$$

$$4a) \int_{0}^{\pi t/2} \sin x dx \qquad 4b) \int_{0}^{\pi t/2} \sin x dx$$

$$= -\cos x \int_{0}^{\pi t/2} = (-\cos \frac{\pi t}{2}) - (-\cos \delta) = -\cos x \int_{\frac{\pi t}{2}}^{\pi t/2} = 0 - 0 = 0$$

$$= 0 - (-1) = 1 = 0 - 0 = 0$$

$$= 0 - (-1) = 1 = 0 - 0 = 0$$

$$= 0 - (-1) = 1 = 0 - 0 = 0$$

$$= 0 - (-1) = 1 = 0 - 0 = 0$$

$$= 0 - (-1) = 1 = 0 - 0 = 0$$

$$= 0 - (-1) = 1 = 0 - 0 = 0$$

$$= 0 - (-1) = 1 = 0 - 0 = 0$$

$$= 0 - (-1) = 1 = 0 - 0 = 0$$

$$= 0 - (-1) = 1 = 0 - 0 = 0$$

$$= 0 - (-1) = 1 = 0 - 0 = 0$$

$$= 0 - (-1) = 1 = 0 - 0 = 0$$

$$= 0 - (-1) = 1 = 0 - 0 = 0$$

$$= 0 - (-1) = 1 = 0 - 0 = 0$$

$$= 0 - (-1) = 1 = 0 - 0 = 0$$

$$= 0 - (-1) = 1 = 0 - 0 = 0$$

$$= 0 - (-1) = 1 = 0 - 0 = 0$$

$$= 0 - (-1) = 1 = 0 - 0 = 0$$

$$\begin{array}{c}
5a) \int_{0}^{\pi/2} \cos x dx = 1 \\
-\pi/2
\end{array}$$

$$\begin{array}{c}
1f \quad f(-x) = f(x) \\
-\alpha
\end{array}$$

$$\begin{array}{c}
f(x) dx = 2 \int_{0}^{\pi/2} \cos x dx = 2 \\
-\pi/2
\end{array}$$